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BASIC VEHICLE TECHNOLOGY

Fryifa @ . 3 W) (ATt 37 : 60
Time allowed : 3 Hours] [Maximum Marks : 60
Pe. () IAEABTIEAC A E |
Note : There are three sections in the paper A, B and C.
i) 97 Q7 g a@a 1 % G 10 YT % IR T | IAF 77T Qo 3 HT 8 T
o} 10 577 TEGAE TFR F T % 8 |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

ity G % 8 5w 8 P 6 WA & I AT 1 9% 7 3 O
3§71 5 TE/50 9ieg] § IR Gorg |

Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

() T @ P 6 XA 7 @ el 4 W % IR AT | I 5 8 3 T8 T
577 15 &137/150 FIg] 3 IR T |

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

) TR B & G 5Vl I FAR O G & Fild |
Solve all :h_e questions of a section consecutively together.
(vi) it g 7 SR 8 % R 7 S sare & a4 8 |

Only English version is valid in case of difference in both the languages.

JEHA -
SECTION - A
. () wWwe i from vaEet 6 3 @3 & o 6 IR el i a1 1l 8
(a) e AT b) FEReh
(c) <& 9 (d) Edl 235
The longitudinal distance between the centre lines of front and rear axle is
referred as :
(a) Caster length (b) Camber distance
(¢) Wheel Base (d) Wheel Track

(1 of 4) P.T.O.
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i S # wad el i i 68 F9 J A1 AR 7
(a) Sl e (b) Traeh e
(c) W i (d) T 9 HIg A&
In leaf springs, the longest leaf is known as :
(a) upper leaf (b) lower leaf
(¢) master leaf (d) None of these
5§ Wt 9 UsaATa H SEAHTS B4 arelt 19 2
(a) TEEINH (b) ItieIsH
(c) EESEA (d) T SRS
The gas used in gas filled shock absorber is
(a) Nitrogen (b) Oxygen
(¢) Hydrogen (d) Carbon dioxide
1Y e WHIEA: ORI &
(a) fose ufei @ (b) 3T Ul W
(c) afed afei (d) =i ufEdi W
The Hand Brakes usually operate on :
(a) Rear Wheels (b) Front Wheels
(¢) Right Wheels (d) Left Wheels
e ATET | g gl R
(a) UHSEE (b) dfan
(c) Eorar AR (d) uegfufEm
Brake lining mainly consists of
(a) Asbestos (b)y Copper
(¢) Castlron (d) Aluminium
HAemreTee ares § i aied & 32w @
(a) Tifa uftada &
(b) U uftEda &1

(c) Tl ®9 & 7ifa HH BT
(d) ATGvEAT TS UL Eo 1 e F ufEdl | way fawse e

The purpose of Gear Box in an Automobile vehicle is

(a) To vary the speed

(b) To vary the torque

(¢) To provide permanent speed reduction

(d) To disconnect road wheels from the engine when desired
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(vil) T o g AT G <61 Siga a1 =feT

(a) gAdH (b) Hfuswan
© T3 (d) T4 HE A
The Inertia of the rotating parts of the clutch should be :
(a) Minimum (b) Maximum
(c) Zero (d) None of these
(viii) 3178, g # foreret =1 gan 2.
(a) -&odl SAlEl (b) i e e
(c) e e (d) dfan
1.C. Engine cylinder is made up of
(a) Cast Iron (b) Plain Carbon Steel
(c) Alloy Steel (d)y Copper
(ix) afen St 2oa-TfEa 2 o T e T Hehd -
(a) =edl qfEd (b) i aren afeEn

(c) ook fumeg =1 ufea (d) wgaa dfen
The type of wheel which cannot be used with a tubeless tyre is

(a) Disc wheel (b) Wire wheel
(c) Light alloy wheel (d) Composite wheel

(x) n@%m%mﬁn%m%ﬁﬁmqﬁaﬁm% :
(a) I AH (by &fas a5
(c) Uo (d) e a4t
Stress produced in the side members of frame due to weight of the vehicle is —
(a) Vertical Bending (b) Horizontal Bending
(c) Torsion (d) All of these (1x10)

Jaue — ot
SECTION-B
5 teraTee i der 1 w1 A B R 7
What is the need of Clutch in the Automobile ? 3)

3. S AT AT A # T 27
Why the unsprung weight kept as low as possible ? 3)

4 efter A i et R FE R 7
What is the function of a Shackle ina leaf spring ? 3)
P.T.O.
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feaftr qu s g 7

What is Steering Axis ? 3)
A1 wehR & JTemraTse afedi & am fafEy |

Name three types of Automobile Wheels. 3)
HAerraTse areAl # 80% & 3ftreh gerdn el $h 1 YA TE Fd ?

Why Brakes with more than 80% efficiency are not used in automobiles ? 3)

IR AT < HTeH 1 90° o 10T I & gHTd 8 7
How the drive from propeller shaft is turned at Right angle ? 3)

HHIR 1 T 6 BT 2 ?
What is the function of Camshaft ? 3)

e — Ht
SECTION - C
U FATIETEE 2 % ufee &1t st 36 W fafie vt @t guia gu faan @

oA Hifor |

Draw cross-section of an automobile tyre and show on it various constructional
features and explain in detail. 8)

TefteR HHHT &l ST 1 Tt i geEar @ fawn & auiq $ifs |

Explain in detail the construction of a leaf spring with the help of diagram. (8)

o & wemaT § ared yaTeE Fiteh! i e | qwEsT |

Explain valve operating mechanism in detail with the help of diagram. (8)

(a) dera-w4e i Tr=AT 1 Gfed aui hifa |

Describe the construction of clutch plate with sketch. 4)
(b) ETehd B9 a7 e A wehr 3 firem A 6t gern Hife |
Compare sliding mesh and constant mesh type gear boxes. (4)

oz & gemEar @ $20 uret fafeet 6 sriyunedt %1 avi FHifa |
Explain the working of Tandem Master Cylinder with the help of diagram. (8)

ferr <61 warEa @ gg Y 30Tl Ty % fere feeafin foss = avf ifr |
Explain the Steering Linkage for Rigid Axle front suspension with the help of figure. (8)




